SRI KRISHNAVENI COACHING CENTRE

Lakshmi Peta, Yemmiganur - 518360. Ph: 98853 03408
website: www.krishnaveni632.yolasite.com

DEE CET MODEL PAPER -9

Max. Marks : 100
Time : 120 Minutes

PART -1
GENERAL KNOWLEDGE
& TEACHING APTITUDE

1. 2015 May 21 2.2015 June 21
3.2015 June 11 4.2015 June 17
&9 wodrbch @rmr b3°ESo JHpid
etDRHTD?

1. 2016 3 21 2. 2015 e=8 21
3. 2015 @8 11 4. 2015 &~5 17

2. One June 25, 2015 P.M. Narendra Modi

all areas

1. Housing for all 2.AMRUT

3. Smart City 4_All the above
2015 a5 25 5 S0 8 2eSoDodiS
SQerd)f) 1HirSHss Sonohols HPsren?
1. 05068 wey 2. wdnd

3. ;G b 4. psky

3. First vice-chairman of “NITI-AYOG"_
1. Aravind Panagaria 2. Sivaraj Singh Chauhan
3. Sushma Swaraj 4.CN.R. Rao

“Ha-wdreh” 80 ax DEB?
1. o8008 SSmrbate 2. 8S5oed Hoff TS
3. é;anazaéuvé 4. 5.35. 505

4. World populationday _____

1.June6 2.April7  3.July11 4.July29

@0 awrge B S,

Les556 2 967 38 -8 114 ==p 29

5. Inthe Global Peace Index - 2015, India ranked?

Fod bF 2085)-20166° g8 Fso?

1. 154 2. 157 3.160 4 143

6. One of the following acts as a primary barier

on the part of the teacher in dealing with

primary class.

1. poor - english speaking ability

2. low self - confidence

3. lack of experience

4. |acbmfmmubjectknmhdga
FOE | DPDE BB LTV

w @nqsa:s wetgo.

i.

:m

WOGA0

EMO‘:&:

1. When was the first International Yoga observed?

launched the programme to develop the cities in

7. CCEis .....

1. content comprehensive eudcation

2. continuos comprehensive education

3. complete continious education

4. continuous comprehensive evaluation

Dhe e

1 D5k Sy D

2. Nboss HFDE Sarergolilio

8. JrQ Apam Do Ay

4. DOoST Dl Feergosiso

8. Ifyoufind a childin your class who always

isolates from the rest of ciass. You would...

1. try to understand the cause

2. ask the child to be normal by taking the
exampie of his classmates

3. inform the management that his presence
may effect other students of the class

4. leave the child alone so that the child
comes out of it by his own

& S5KBED oK Deorth s noblrr

dothdty Hb K5HOY et Sakosa.

o e oo Sanen geoke

2 S L‘nﬁ S, Pber Sedieenre

3@@@&5@%@@&

tmﬁ#ﬂm#&mmm

= o0 ol mabblh BED
9. mmmmmmmunan

academic year according to Rightto
education Act - 2009.

Verg Sptly Sgo-2U0Y (BEeCo Ergine

ﬂaﬁm& Doy HosEsod® shs &'

Hoden

1. 800 2.1000 3.1200 4.600
10. The share of MLC's elected by teachers in

Humtalstrmgmnfmelegialaﬁwmunsilis

1 1 1
In 2 lw —rd —th
1. 6:# 2.7 3.37 4.5
Mﬁﬁ%ﬁnﬁoé@uw GarErEaioeD
DEPES Dgeb SOKK Beige So
1 1 1 1
1.5 2.75% 373 438




PART -1l (A)
GENERAL ENGLISH
11. Doesshe ___ (take) milk regularly ?
1. take 2.takes 3. will take 4. is taking
12. Murali___ (not prefer) coffee.

(Choose the right answer)
1. Don't prefer 2. Doesn'’t prefer
3. Prefers 4. Prefer
telescope enables us to see the dis
tant stars.
1.a 2.an 3.the 4.No article
14. | request your help. (Change into complex)
1. You should help me. If i request you
2. You may help me against
3. I request that your help is needed
4. | request that you should help me
15. Mr.Raman teaches us grammer
(Change into passive form)
1. We were taught grammar by Mr.Raman
2. Grammar was taught us by Mr.Raman
3. We are taught grammar by Mr.Raman
4. Grammar has been taught us by Mr.Raman
16. ‘Mrs. Supriya Reddy who is the principal, is
married and has two children’.
(Identify the clause)
1. Defining Relative clause
2. Non-Defining relative clause
3. Direct object 4. Indirect object
(Q.No.17 and 18)
Read the paragraph and choose the right
answers:-
Immediately Bobby slowed his boat down
Myers was catching up very fast. But Bobby
waited patiently until all the ducklings were out
of harm’s way. Then he picked up speed again
and went on to win the race easily.
17. Here the words “Immediately, but, then” are
used by the writer in order to
1. achieve unity 2. develop atopic sentence
3. select an appropriate title 4. See variety
18. Here the words easily” and “fast” are used as
1.nouns 2.verbs 3. adjectives 4. adverbs
19. (Identify the main clause the completes the
conditional clause)
If | were a bird
1. lwould flyinthe air 2. [canfly in the air
3. I will fly in the air 4.1 may fly in the air
20. I have been learning English Grammar
alongtime.
1. from

13.

2.10 3.since 4. for

PART - 1l (B)
GENERAL TELUGU

21. DoAd S0P 88 887
1. %08 s 2. &&)o JETTADETTE;
3. QOEPY ere V8B 4. ©o3 Sod& Toe0
22. (D208 K)éﬁ)é&&éﬁ, FogHhmrnt @ 568
QBooen Eod)?
L 88 2. oSS 8. IS 4. ABS
23. 955;%)@58 FREDB B, B 7E50S° D wooso
ot ?

1. S8 B 1580 2. oH&EHw
3. eRerBEed 4. BBl
24. K&+68 BodHod.
1 558  2./H8%8 36858 4. Koxg

25. BKE, 1, Hosso, @ééo, B0, &Bo Inserd
eSS (HBoe esthyt.
1. @meeocd 2. ared8 LS
3. ©akge Trar Tosl(thed 4. S8SS
26. KT Heao D JKe0 HEo?
1. &0y d3do 2. ©35000°grd DATD0
3. D0grPRY I8N éé&médﬁo ¥ H0
4. 638578 68500HE Sdredo
27. “o DBY Sy Haryoesen DAY & EE0SD TS
1B eHden MHBosod.
11Ut Ul uullr 2.1 111 ul
.11 1TU uuul 4. 1111 Ul
28. _‘305‘5;3 e BLSan(® J58?
1. $508 EHATR 2. S EHATS
3. &ep 4. EPRD
29. “E)& H08” § Hox0HoAID 2D?
1 38 2. arigd 3. BHobse 4. 258
30. écgoé Do, &85cdH FEHE, 8IeHgNS oo Sro§
SVB EQee oFeren Ko 8D dNB?
1 83 2. )00 3. o 4.a7e0)p8 BLS
31. “Sr5B0 DES” ReHBHX) &8 a8 FrEBH
E5ond QX?
L &% BrS Sopd 2. 88
3. &% $o& 4. TR D
32. “IrdHE éo&%%o—:ﬁ)éao“pgﬁ ° $o0AB0” @
DN ALY AL DSE?
1. %0 2. EiB o0
3. HYHY ToraherTiy 4. 3@
33. “&y)” By Blond JH?
1. S 2. B8 Kidoees
3. 8 §HKrY 4. =88 oechHeTeD
34, “a08850” 98 HBo O JBIEH HBo ©HEod?
1. $3chH D8 2. Ho5do
3. zﬁéoé 4, &Séo&o
35. Hooes, 88T Dol DHEED &5 SESen
5% 209 By¥old seEgore S oo,
L so50 2. (Pwogo 3. Jdo
36. “Sopen wrre 0P 8d O FE0?
1. ééé&é 80 2. @éé&é 80
3. %083} 550 4. Joasng g0

Uull
Ulul

4. ¢80




:39, =

37. "G oo SHA0TD” @ @ a‘jhhqu
1. &8 50 2. [»8es SVEL0
3. @co&fé S50 4. bﬁmtﬁﬂ, TEO
38, @B fHmSoHhd & ot addo D?
L edth 2 hndodhoe 3. Mso 4. S5
n&" Sord ‘aﬁéﬁa o 5908 HBoEod.
Ke 2. 15058 3. 98 4. 0B5Y
40' ev S“C';Efa- Bomoty sz,
E SPEGO 2. Ewtio FEco
< b T 1. S ;;%éa
PART -l (A
MATHEMATICS
41.The equation of the line passing through (4.-3)
and parellel tox-axisis
(4.-3) rore e x-opd SSrodbore ol
By Sanstmo
1.x=4 2.y=4 3x=-3 4y=-3
42. Inan AP, § = 4n’-3n, thent = __
% wolsde® S =4n?-3neowd t,=_
1.370 2.73 3.297 4. 103
43. If 3rd and 8th terms of G.P. are 8 and 256
| respectevely, thenthe 13thterm=___
| e hnEhE® 35 Hbdkn 85 Horen Stidre 8
hBdin 256 wowd 133 Stfo =
1_ 21‘] 2_ ‘3!3 3 315 4 3I5
44 |n a cyclic quadrilateral ABCD diagonals
intersect at E. Then which of the following is
true?
ABCD &8 ﬁé:&gaméﬁ Soren E 58
PoBoD DGR, wondd & Lé‘;oﬁ: FE D
wen?
1. AE+BE=CE+DE
AE _DE

2. AEXBEXCE=DE

4. AEXDE=CEXBE

CE
45, lf the dlagcnal of asquare is 16 /2 cm, then the
areaof itin sg.cmis

a’:é;iﬁ@ﬁgo 16.f2 o. S5, @ond o PO
| S0,
| - 73128 2. 256 3.64 4 32
|45 When 4x*-Bx + 3is dwrded by __ the

remainder is 24.
DHE-Bx+ 3 = a?ﬁ‘é 550 24 wrhi.
1. 2%+1 2 2x-1 3. 2%+3 4 2w-3

1
47. Afraction becomes E when 1 is subtracted

1
from the numerator and it becomes —when 8 is
added to its denominator. The fr‘af:tiun 8.

oo0 el 185 d?ﬁﬁ'ﬁj a8 Jido @r{)m oBdw

| &m&&ﬁ@hﬁ@&ammmw

1.4/9 2.6M0 3.5/8 4,512
!48. A letter is chosen from the word
| CONGRATULATIONS, what is the probability
that it is a vowel”?

CONGRATULATIONS e sitos® sy @0F)

RO, ...

1.4/5 2.2/5 3.1 427
49 |fPT is atangent to the circle and PABis a
secant. If PT=6cm and PA=4cm then AB = ____
&% 08 PT e le ooan PAB & 34
. PT=6 2030, $565n PA=470.8. sond AB
1. 4cm 2.6cm 35em 4.4cm
50. fA —BthenA |J(B-A)isequalto...
A B sond A | (B-A) D S5vETike.

1. & 2. 3.B 4 A
51. If 5=-5* = 0 then the value of xis ____

5% - 52 = 0 ewond X Dol ...

1.0 2. -1 3.9 4.2

52.IfSing=Cos2 g, thencot 3 g value is __
Sin g=Cos2 g wowa cot 35 Je0d ...

1
2%

J 3.0 4 o
1 1
53. If x+— =4, then the value of x—; is__
™ o
X+—=4 wond X—— JenS...........
X X
o Vi .
1. ¥ 235 375 425
54 logcot 1°+ log cot 20+ ... logcot 89°=__
1.1 2.0 3 600 4 o

55. Cumulative frequencies are used to measure
the
1. Mean 2 Mode 3 Median 4. Range
B0 Ko addrhod o
go@iﬁf}ﬁn od...
L %o 2. a0t . Sogigridiasn 4. amgd
56. Forthe data 11, 12, 13, 14, 15, 16 mode is
11,12, 13, 14, 15, 16 c‘fwé;an“mﬁﬁo.

1. 11 2 12
8. 15 4. Does not exist {aﬁéﬁ’%éo D)
57. log27 - log3 =
1.log24  2.log30 3. 3log2 4 2log3
=B T
3 212 21@ 212 4 212
© 100 - 09 C 00

diameter and same height then the ratio of

theirvolumesis

aﬁ Kasiion, Bogsh O FefSnen o8

s Hbc a2 DHheH BORGHOD 8 BB

:ﬁaa"wumve: 8.

1. 1:3:2 2 231 3 8:1:2 4, 3:2:1
60. If the costprice of an article is Rs.640 and

selling price is Rs.680, then the percentage of

profitis

a8 $id Do) T Jo &r. 640, vydde

ErE. 680, wons ovgiwdo

1.51/4 2.61/2 4, 6 1/4

3.71/4

59. If a cylinder, a cone and a sphere has the same |




PART - Il (B)
PHYSICAL SCIENCES

61.The plastic used for making kitchenware,
utensils, computer and T.V. cabinetsis
1. Polythene 2. Bakelite
3. Poly Vinyl Chloride 4. Melamine
o TSP, arGen, Eosegd bk &.9.
oroB HBETe pgrrio K08 SHTrAOT FRE
1. 3OS 2. BEBES
3. d 935 888 4. DOWS
62. Which of the following is a correct statement.
1. Water boils at 100°c under normal atmo
spheric pressure
2. Evaporates above its boiling point liquid
3. A large space between the particles in a solid
4. The force of attraction is strong between the
particles in a gas.
Bod &S KOIS 5.
1. Ferde aeesten HEto $§ A& 100%C ¢
oo
2. (8550 qu@ﬁéé So&orH a;éo A Soaees
S8R (BP0 BihBE0d
3. b éwg;@é‘s Bezro S0gg BN Q@o €000
4. oo Sorred® Swro Hily poRP B8
200 60Ol
63. The net force acts on a car which travels with
a uniform speed of 20 m/sec towards west side
is__
20 &. /3. $HH8E° o8 528 HELHEIH
(B05eB3:08, TR Ko HOF 2eo
1. 196 N 2.98N 3.49N
64. Pb + cucl, _, Pbcl,+ Cu.
The above chemical reactionis __
1. Chemical combination
2. Chemical decomposition
3. Chemical displacement
4. Chemical double displacement
D BFPADS $Es
1. 8rcd Yo&deo 2. B8RS &Ko
3. Bl 3;26@50%0 4. BIRADHI B0 B0
65. Which of the following property doesnot change
during refraction of light
1. Wave length 2. Frequency
3. Velocity 4. Allthe above
Bod &S 208 HE&H508° P8 Dews
1. &or Fgso 2. ;EHKg0
3. =208 Iis0 4. Y

4, 0N

(zero)

66. The method used to seperate the components
in a colour of inkis____

1. Sublimation 2. Distillation

3. Chromotography 4. Fractional distillation

2ToEE Ko 8ot edsnirseon F FeHhmedd

SH@PAOI HES

1. 6&)830 2. 25056550

3. (B%0es¥isd 4. ®0388 5(056550
67. If two bodies of same mass are dropped from

same height, then which of the following is

same for the two bodies at any time.

1. Speed 2. Gravitational Force

3. Potential energy 4. Klnetic energy

2.8 (B¥50°8Ke Bok SPen &8 D& Hod

S0OB@TaD. 808 O TBE® D& Bok

S8HOH O BHcHosITe $esore Gotnod.

L && 2. Hohegtens avo 3. 18IE 4.150 ¥§
68. The atomic numbers of the elements A, B and
C are 6, 11 and 17 respectively. The formulae of
inonic compound that formed by the above
elementsis __

A, B 508050 C Sorosre H88e0 Qoggen DB
6, 11 50805 17 wond & Sresred® 5325@3&5
@058 K)wgo @%53@@.

1.AC 2.AB 3.AC, 4.AB

Total internal reflection takes place when the
light ray travells from ___

69.

1. rarer to denser medium

2. rarer to rarer medium

3. denser to rarer medium

4. denser to denser medium

KOFPTTOBE HT L0 e38reos 208

(SaSredowed.

1. DBEEEPIE0 Hro& FPo(BSE aSrdEo

2. QBEXIT580 ool DY oSedso

3. o588 b0 Lo DBY csrdBo

4. Jro|BBE A5rdEo Hod JrolBss ahdgo
70. The first fractions that to be seperated from
petroliumis
1. Petrol 2. Diesel 3. Kerosene 4. Fuel gas
2(E5*D0H0 5008 Fodeorr S8 BohadS
oderso

1L S 2. &as 3. 85%28 4. m05d s




PART - lll (C)
BIOLOGICAL SCIENCES

71.Who noted that micro organisms as
“animal cules”
1. Aristotile 2. Robert Hook
3. Robort Brown 4. Anthonivan Leavenhook
&P@é@@?ﬁ) 220&H5Pen ©Q DOVIB.
1. @aacgé%ef 2. U°aa§ &8
3. o°af (@8 4. ©0&°V5S ORZE
72. While you are in angry, which hormone in your
blood is high range?
1. Thyroxin 2. Adrinoline 3. Prolactin 4. Pitutary
9% 880 EOADHPE, ) tS_égoeS‘S d 0“550'35 (Hgrdo
&)t @ gPAQTND?
L Goo8)S 2. AEIOS 3. (DFer8S 4.5k F5Y
73. The fungus belongs to which level in an eco
system?
1. Producer 2. Primary consumers
3. Secondary consumers 4. Detroyers
Bdolgren o3 fHew ebdens 255262855 328
BotHozeon?
1. &5 Burden 2. (580 ARt
3. BxBCH DAGrHTHL 4. DYHFen
74. A person met an accident on the road and
severly injured, bleeded continuosly for long
time without stop. So whcih vitamin difiency in
his body?
a8 K58 8% (B5rmed8 193 Brairedrg,
DHEEE BERPS0 wrer $HoHo 28Rk, wond
©3IS° H DS SDHBweN?
1.A 2.K 3.C 4.B,
75.Which animal has 2 chambered heart.

1. Fish 2. Frog 3.Snake 4. Dove
0B 2 Ken ok £.
1 8% 2. 8 3. Fsw 4. FHTo

76. What is the Humous percentage in organic
matter?
Dolbo® émcc;e)é‘s g0 FB0 Jod?
1. 8% 2. 80% 3. 10% 4. 25%
77.Which membrance worked as semi permeable
membrane in plant cell?
1. Cell membrane 2. Plasma membrane
3. Cell wall 4. Nucleo membrane
It O &iso ®8 a3k EiSo o
PB0H?
1. Bead&0 2. oB ) o 3. Bew o 4. SoEs8 &o
78. What is the name of Bone cells?
1. Edipocytes 2. Oesteocytes
3. Nuerons 4. Hepatocytes
D08 BerodH Ko HE?
L JBFRG) 2 QARG 3. TR 4 TSR

79. According to disease, expand S.T.D.
S.T.D. &dre a°56he Hdore..
1. Sexually Transport Diseases
2. Sexually Transimitted Diseases
3. Sexually Transperted Diseases
4. Sexually Transverse Diseases
80. While journey forming in muscles and cause to
pains and swell is by
1. Lactic Acid 2. Piruvic Acid 3. Acitic Acid 4.Hcl
(Smes HooHos® ERTHR G Soorerst
HDWERE 788 s%ea:ﬁ)cfo&‘b?
1. or88 epo 2. PErAE eHo
3. MAze0 4. 3rEtsteeso
PART - lll (D)
SOCIAL STUDIES
81. How many days the Earth takes to complete on
revolution.
1. 365 1/2 days
3. 365 1/4 days
GBS HE sPwo

2.
4.

364 1/4 days
364 1/2 days

1. 365 1/2 &%aren 2. 364 1/4 &feren

3. 365 1/4 &fewen 4. 364 1/2 &%ren
82.Pangaeais a

1. Super ocean 2. Super continent

3. Sea 4. Continent

POBRAST 2.8

1. 05833 (50 2. oStpoo

3. Jdm(o 4. oo

83. When it is 12 noon (P.M.) in Greenwich (0°),
what is the local time at 82°30' western longitude
1.430pm 2.5.30pm 3.6.30am 4. 4.30 am
(AOS Begrodo G Sogrgso 12 5088,
82°30" 13y Bgroo Eétg Voo Noes?

1. Sogrgsso 4.30 2. g0 5.30
3. &8c%o 6.30 4. 685000 4.30

84. Most active volcano in the world or light

house of the Mediterranean sea.

1. Fujiyama 2. Stromboli

3. Vesuvius 4. Mayon

(HoBE ©&508 BB G ©f) HdgEo, Boe
0GR D0(ED &é§oa>o.

1. $egesoase 2. [[pos®®

3. FQAHD 4. S20HS

85. The largest delta in the world is...

1. Godavari delta 2. sunderban delta
3. Krishna delta 4. None of these
©B0Bos® ©8 g Tep HB?

1 Fosd Qep 2. otbas Gep

3. §)3F Qep 4. H&sL




86. What are ‘ceded’ districts.
1. Bellary, Ananthapuram, Kurnool, Kadapa
2. Bellary, Chittor, Kurnool, Kadapa
3. Belalry, Nellore, Kadapa, Ananthapuram
4. Ananthapuram, Kurnool, Kadapa
Bod TBE° VRE Berpen AD?
L a0, ©508HB0, &S, EEH
2. 2820, DErE, EomS, 8&H
3. 228, JePs, 8K, ©wSo8HBo
4. 30880, B&en, BED

.1-D, 2-E, 3-C,4-A,5-B 2. 1-A, 2-B, 3-C, 4-D, 5-E
1-E, 2-D, 3-C, 4-B,5-A 4.1-A, 2-B, 3-D, 4-C, 3-E

88. The author of the book “Praise of Folly”

1. Erasmus 2. Donatello

3. Giollo 4. None of these

“BF oD TO” HIE ESowd AHB?

1 dooyS 2 aoé?)eS‘s 3. ARPS® 4. Dbsekd
89. Humanism started in

1. ltaly 2. Germany 3. Australia 4. France

S5 SrGo (8o (rosres® @*Déoé,ﬁo ©00JB

Lowd 2280 3 oQDAr 4 %)
90.Long-Marchwas heldin

eroh &8y 230AS Kol

1. 1914-15 2.1924-25 3. 1934-35 4.1944-45
91. UNDP means.

UNDP 8o 5803508

1. United’Nations Development Project

2. United Nations Development Programme

3. United Nations Development Peace

4. None of these

87. Match the following. 22858508

Group -A Group - B

1. Kirshna Patrika A) Curzon

2.1905 Oct 16 B) Begining world war-1

3.1915 C) Tilak release

4. Partition of bengal D) Mutkuri Krishna Rao

5.1914 E) A day of mourning
(- G-

1 83 58 A) 883

2. 1905 oS5 16 B) 3058 (55055 cingo

(@rBogso

3. 1915 C) 88 JHse

4. Borre a3 D) Soo¢0)8 ég%:

5. 1914 E) 28 Jozrx &do

]

3.

92. Match the following. 22858508
Group -A Group - B
1. Organised sector A) Manufacturing of
Agarbatti

. Cen organised sector B) Afinancial year

2

3. GDP C) Indian railways

4. April to March D) Value of final goods
and services

5. Banks E) Finance

(- (5o -8

1. Eéegzé(oép)ééoﬁo A) orida8e $d5r0

2. 0 %w%éﬁéoﬁo B) @gé Dod&Bo

3. &. C) g580% B850

4. a@é 208 o) D) @085 zémzé)e) ),
Qeny, 86w

5. er508) E) 88 % 3

1.1-C,2°A,3-D,4-B,5-E 2. 1-A, 2-B, 3-C, 4-D, 5-E

.1-E, 2-D, 3-C, 4-B, 5-A 4. None of these

93. An example of direct tax is
1. Customs duty 2. Excise duty
3. Income tax 4. Sales tase
@é § dB eresrden 207?
53‘3 Qoogo 2. AZ)E oo
3. eawo‘ﬁao“g) SV 4, @Eﬁ)&éog) SNV
94. D.A. is paid to the
1. Daily labours 2. Agriculture labours
3. Private labours 4. Government employees
D.A. (80d &8 $58006.
1. Berard (THod 2. (P (B°hHe%
3. HRFPAD (0D 4. (H5HE] 1%65 ok
95. Which dynasty was introduced the standard
currency. “Pana”.
1. Mauryan 2. Sindu 3.Mogal 4.Aryan
@ H0E0 (FHPBEIS “PT” oD @’33%33&?)0&

1. &Egen 2. dogr 3. IS 4.estgen
96. The Right to Information Act (RTI) was passed
by the parliament in year of
SEeE $7E) 580 PYHOTE eio TPodS Kol
1. 2003 2. 2004 3. 2005 4. 2006
97. Amrit Bazar Patrika (Started in 1868) was edited by
1. Surendranath Benarjee 2. Subramaniya Iyer
3. BalagangadaraTilak 4. Sisir Kumar Ghosh
08828 HBs° HoPLHD IS?
1. %080l e?;:éé 2. Solseago @airsd
3. zrorordt 8ot 4. 38H5rE FF°R
98. Expand IWMP.
IWMP 380508,
1. Indian Watershed Mangement Programme
2. Integrated Watershed Mangement
Programme
3. International Watershed Mangement
Programme
4. Indus Watershed Mangement Programme
99. Who is the responsible for smooth run the
elections in polling booth?
1. Clerk 2. Poling officer
3. Presiding officer 4. Returning officer
DBOoR Solres® BOoR (HBaHh 20653?03

1. 85, 2. POoR w6
3. ®R&0R ©dhisb 4. B&8\0R ©&EB
100. The chairman of the palnning commission.

1. Prime Minister 2. President
3. Lok Sabha Speaker 4. Governer
Be°@8 oo FBS

1. (Hgrddoo® 2. RG0S
3. &% JeS ?oa)és 4. 5565
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